
STD IV  

SELF ASSESSMENT TEST 2 

MATHEMATICS  

TIME : 45 MINUTES                                 FULL MARKS : 20 

1. Fill in the blanks :                                                     [1X4] 

a) 452 - ___  = 452 
b) 829 - 829  = ___ 
c) 1842 X 0  = ___ 
d) 45 X ___  = 45 

2. Subtract the following :                                          [2X2] 

    a)    Th    H    T    O                           b)      Th    H    T    O 

                 

            5      0     0    2                                      9     2     6    3 

    -       1     8     3    5                               -      4     8     2    7 

 

3. Multiply:                                                                    [1X2] 

        6   8   2 

    X  4   3   6 

 

 

 



4. Simplify :                                                                    [1X3]  

    6,391 – 4,543 + 1,001 

5. Estimate the sum ( 6,722 + 3,462 ) to the           [1X2] 

    nearest thousands. 

6. Word Problems :                                                     [2X2𝟏
𝟐
]   

a) A school library has 19 cupboards. Each  

    cupboard has 257 books. Find the total 

    number of books.  

b) In an examination 19,405 candidates  

     appeared. Out of these 10,029 failed.  

     How many candidates passed ?    


